

1-  $\frac{a}{q}, a, aq, \dots \Rightarrow \frac{a}{q} \times a \times aq = 1 \Rightarrow a^3 = 1 \Rightarrow a = 1 \Rightarrow \frac{a}{q} + a + aq = 1 \Rightarrow \frac{1}{q} + 1 + 1 = 1 \Rightarrow \frac{1}{q} + 2 = 1 \Rightarrow \frac{1}{q} = -1 \Rightarrow q = -1$

$\Rightarrow q = \frac{-(-17) \pm \sqrt{(-17)^2 - 4(1)(1)}}{2(1)} \Rightarrow q = \frac{17 \pm 18}{2} \Rightarrow \begin{cases} \textcircled{1} q = 17 \\ \textcircled{2} q = \frac{1}{17} \end{cases}$    
 جبرین حسابی نسبت   
 پس این قابل قبول است

2-

$(1x)^2 = (x^2 - 2)(x^2 + 2) \Rightarrow x^4 - 4 = x^4 + 2x^2 - 4 \Rightarrow 2x^2 - 4 = 0 \Rightarrow x^2 - 2 = 0 \Rightarrow x = \pm\sqrt{2}$

$\left. \begin{aligned} x^2 - 2 = 0 \\ x = \pm\sqrt{2} \end{aligned} \right\} \Rightarrow \begin{aligned} x = \sqrt{2} &\Rightarrow 1, \sqrt{2}, \sqrt{2} \Rightarrow q = \frac{1}{\sqrt{2}} \\ x = -\sqrt{2} &\Rightarrow 1, -\sqrt{2}, -\sqrt{2} \Rightarrow q = -\frac{1}{\sqrt{2}} \end{aligned}$

$S_r = 1 \times \frac{1 - (\frac{1}{r})^n}{1 - \frac{1}{r}} = 1 \times \frac{1 - \frac{1}{17 \times 17}}{\frac{1}{17}} = \boxed{\frac{17 \times 17}{1}}$

3-

$1 + q + q^2 + q^3 + q^4 = \frac{1 \times 1}{1 - 1} \Rightarrow S_5 = a_1 + a_1q + a_1q^2 + a_1q^3 + a_1q^4 = a_1(1 + q + q^2 + q^3 + q^4) = 1 \times 1 \times \frac{1 \times 1}{1 - 1} = \boxed{\frac{1 \times 1}{1}}$

4-

حسابی:  $A = \frac{1 + 17^4}{17} = 17^3 + 17^2 + 17 + 1$ , هندسی:  $B = 1 \times 17^4 \Rightarrow B = 17^4 \Rightarrow \begin{cases} \textcircled{1} A + B = 17^3 + 17^2 + 17 + 1 + 17^4 = \boxed{17^4 + 17^3 + 17^2 + 17 + 1} \\ \textcircled{2} A + B = 17^3 + 17^2 + 17 + 1 + 17^4 = \boxed{17^4 + 17^3 + 17^2 + 17 + 1} \end{cases}$

5-

$a_{10} = a_1 + 9d, d = \frac{1 - a_1}{9} = \frac{1 - 1}{9} = 0 \Rightarrow a_{10} = 1 + 9 \times 0 = 1$

6-

$17 \times 17, a_2, \dots \Rightarrow a_n = 17 \times 17^{n-1} \Rightarrow a_n = 17^n \Rightarrow \boxed{q = \frac{1}{17}}$

$a_1, a_2, a_3$

$a_1 + d, a_1 + 2d, a_1 + 3d \Rightarrow (a_1 + d)^2 = (a_1 + 2d)(a_1 + 3d) \Rightarrow a_1^2 + 2a_1d + d^2 = a_1^2 + 5a_1d + 6d^2 \Rightarrow 2a_1d + d^2 = 5a_1d + 6d^2 \Rightarrow -3a_1d = 5d^2 \Rightarrow -3a_1 = 5d \Rightarrow d = -\frac{3a_1}{5}$

$\Rightarrow \textcircled{1} d = 0 \Rightarrow a_1 = 0$

$\textcircled{2} d = -\frac{3a_1}{5} \Rightarrow \boxed{d = -\frac{3a_1}{5}}$

7-

$a_1, a_2, a_3$

$a_1 + d, a_1 + 2d, a_1 + 3d \Rightarrow (a_1 + d)^2 = (a_1 + 2d)(a_1 + 3d) \Rightarrow a_1^2 + 2a_1d + d^2 = a_1^2 + 5a_1d + 6d^2 \Rightarrow 2a_1d + d^2 = 5a_1d + 6d^2 \Rightarrow -3a_1d = 5d^2 \Rightarrow -3a_1 = 5d \Rightarrow d = -\frac{3a_1}{5}$

$q = \frac{a_2}{a_1} = \frac{a_1 + d}{a_1} = \frac{a_1 - \frac{3a_1}{5}}{a_1} = \frac{\frac{2a_1}{5}}{a_1} = \frac{2}{5} \Rightarrow \boxed{q = \frac{2}{5}}$

8-

$a_1, a_2, a_3$

$a_1q, a_1q^2, a_1q^3 \Rightarrow a_1q^2 = a_1q + a_1q^3 \Rightarrow a_1q^2 - a_1q - a_1q^3 = 0 \Rightarrow a_1q(q^2 - 1 - q) = 0 \Rightarrow q^2 - 1 - q = 0 \Rightarrow q^2 - q - 1 = 0 \Rightarrow q = \frac{1 \pm \sqrt{5}}{2} \Rightarrow \boxed{q = \frac{1 + \sqrt{5}}{2}}$

9-

$d = \frac{1}{5} - 1 = -\frac{4}{5} \Rightarrow \begin{cases} a_1 = 1 + 4 \times (-\frac{4}{5}) = -\frac{11}{5} \\ a_n = 1 + (n-1) \times (-\frac{4}{5}) = -\frac{4n-1}{5} \end{cases} \Rightarrow \frac{1}{5} + \frac{1}{5} + \frac{1}{5} + \frac{1}{5} + \frac{1}{5} = 1 \Rightarrow \frac{5}{5} = 1 \Rightarrow \boxed{q = \frac{1}{5}}$

$$\alpha_1 + \alpha_1 q^w + \alpha_1 q^y = V^w$$

$$t_1 = \alpha_1 = \alpha, t_y = \alpha_1 q^y = \alpha q^y, t_1 = \alpha_1 q^w = \alpha q^w$$

$$\left. \begin{array}{l} t_y = \alpha q^y \\ t_y = \alpha_1 + d \end{array} \right\} \Rightarrow \alpha q^y = \alpha + d \Rightarrow d = \alpha(q^y - 1)$$

$$t_1 = \alpha q^y = \alpha + 1\alpha(q^y - 1) = \alpha + 1\alpha q^y - 1\alpha \Rightarrow \alpha q^y - 1\alpha q^y + 1\alpha = 0 \Rightarrow \alpha(q^y - 1q^y + 1) = 0 \Rightarrow q^y = \frac{1 \pm \sqrt{1 - 4 \cdot 1 \cdot 1}}{2} \Rightarrow \left\{ \begin{array}{l} \textcircled{1} q^y = 1 \Rightarrow q = 1 \\ \textcircled{2} q^y = 1 \Rightarrow q = 1 \end{array} \right\} \Rightarrow$$

$$q = 1 \Rightarrow \alpha + \alpha + \alpha = V^w \Rightarrow \alpha = \frac{V^w}{3} \Rightarrow d = \alpha(q^y - 1) = \frac{V^w}{3} \times (1 - 1) = \boxed{0}$$

$$q = 1 \Rightarrow \alpha + 1\alpha + 1\alpha = V^w \Rightarrow \alpha = 1 \Rightarrow d = \alpha(q^y - 1) = 1 \times (1 - 1) = \boxed{0}$$